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4 Graugs Sefdel method 4

(D) Lolve by Gauss Seidel method :
X+ gt+c4z = 10
QI+ by— 5z =85
ba + 15y 4 27z =72 .

Aoln!
Lot us 'rea"rranje +he eOVua,Han,gJ
.9_#7(4—65—5—2:95‘ /-7@
6x +15y +RZ% = 3, ~=3(2)
X A+YF ShZ — yo.— @
10‘27/7 (el + 15)
[ts] > 161 + 121
(53] = L]+ 1l
= x = Qf—éy—ffz
@ ) 2F
@ = Yy = T2 — b A —Z
—
= — H=Y
g 5 2z = o X2
& =

4/-0£‘y=2==o

Z = [)0.—7(-""7
SRS o S

~ Yrmn

j;/em”'-oﬁ ! X = 85 —by+52 '“:9“:77.,7—41—027_
No 27 /15 54
) e 3.-1"4.34 z 3.54 .95
L d. 4 33 3. 572 1.9 2.4
3 R lp24 B.575 1.924
”‘ o o 3573 (924
- Rralpl " -5 1.926

Hence “the Solr. ig X =428, Y=-3.£13, Z=1-726
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7 = | (g - 0.9933 —3x1.5070) = [.8486 .
10

Fifth iteration :

uwvv?.c = ! (301—-4-K ).5070 + 1.81.86) = 0.9936
a8
y=_1 (35— 2x0.9936— 4% 1-8486) = 1 50696
E}
| (& - 0993 — 3 x1.50696) = 1.848¢b
z = 1 .
o _

. - ‘t. n:

. oL = | (3a,4x1-506‘i6+"9436) = 0.993¢
i 96
y = ) [Js'f;ub-%zé— 4xf-8¢8) = 1-So06
E’
L (ay b.9956 — 3 X1-50b96) = 1-8486 .
z = ' —
10

“The Solution 18, |
]’{ja.'qié_sm, =150k & Z = 1-848¢

i ethod :
.fsonowmj System by Grauss- Seidel m

D) Solve the
qx—y+az = 1
A + Ioy —aZ = 15
9x —ay —13% = —1%
Solution - | |
—The given System 0‘5 equations ave,

qx—Yy +aZz -9 —O
x+|oy-—azslf —(2)
ax- ay-137 = —I1 —>0G)

l .' 1 ] ] al dom'nani—)
Clearly -the coeffictent matriz 18 d:aﬂon Iy -

we Can apply Grauss - Seide| method .

'
| SO

16MA202-Statistics & Numerical Methods P.GOMATHI/AP/MATHEMATICS Page 2 OF 4

O yvEy



SNS COLLEGE OF TECHNOLOGY ~ 28~

VS
(An Autonomous Institution)

DEPARTMENT OF MATHEMATICS

- M @ and (3} , we have i
YT < & ¥ 3 Qg (S W < ]
3 3z —_—
w = .,,.,‘\\' :'J"‘x\) X
a3 <
—
i ) > o)
U = !'M\'E:-'-l*nx\ &
.
LR
8 ) ~ £
X ¥ X —Qu-+=1c) — &
- ™ S S J
SRR .l S g
S
Ciast itewaton ©
- ) \,\‘\.\\
P ~— - ‘ Ps
Eg'(t’!l\’ ) = O < = C i &
~ ~
€xN = f
o - S
i'.‘ttm;? X =1} T=0 it (=
N
U= l.&
\!
T .2 2% "{—f»U:f-'f te :-l
futing N =1, 5 & &
N
- —p AL
bt = I.x\;\'eg\Q

&‘Cond itervation :
.~ . o N e s N

. ~
3 o >z = I- :?é:é rey CL' -
Putting Yy = - &,
5a

» - 2 ;
o x b B 3628 ) = @~ COS4
y _,L. (g +b¢% L
3
P 4 S ,E:'
. 1R § L S .38 &
Puthr73 X = 0,088 , <
< —-£ 27 - 'S;-‘-
Yy = (15 —-0-85a8 - axr38x) = Lo -

o
‘ IS = I~ ES
lefﬁ”j X = 0 .8&5&S . \L‘)

| (.,'\.0‘5533_,&,xhé&:k{‘?‘l?‘): t.
Z L

—Thiyd iterabton :

P

o = (q-+1.68%2 — X K 193) = G~185Y

L.
C’

i f (15‘_0.939(,+¢1xt.|7~75)= te o435
J =+
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Z = ’;5 (ax0-9254 —&X 1.by33+1%) = 1.1972

iteration :

L i

x=_1 (94 1 byp33 — & X 1.1992) = 0.9165
9
o (15~o.916§+ax.l.lq%'°z) = 1. 6478
TS
7z - 1 (axo.9ks—ax Lbg18 +17) = 1.195Q

13

Fifth iteration:

I N

A = _L_(q+ 16478 -

q
I (15—0.9145+axx.1q5;z): 1. 64732

ax1.1952) = 6.9175

4 =7
0
s o 1 (ax0.9115 — A% 16T )
13

Sixth ieration:
+ 1. by13 _ax1.1954) = -0:9174

x=_1_(9
q by73
y - -1,_.(!5_0.9|41;+3\x1-m5¢)= -6y
o
- - 1 (axo. 97y _Axi-b4713 +17) = 1.195¢
12

~The ~Solutibh iS,

]
[7= o0y, y= 1415, == Mo |
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